
 

 

Materials: 

Fireline (6lb) or equivalent* 

Beading needles (size 10)* 

A, Delica bead DB0010 (1.2g) 

B, Delica bead DB2301 (1g) 

C, Delica bead DB22L (1.6g) 

D, Delica bead DB0262 (.4g) 

E, Delica bead DB352 (2.1g) 
*not included in kit 

 

This pendant is done in peyote.  The geometric triangle consists of 3 

sides, each side except the last starting with a herringbone corner 

followed by a peyote row.  Each subsequent row will have 1 more 

peyote bead along the side than the previous row.  The beads for 

each row are designated in a word chart with the corner beads 

appearing in parenthesis followed by the peyote beads separated by commas.  For example: (2A), 1A, 3B, 4C.   

 

Begin by threading a beading needle with a comfortable working length of thread.  Use a stop bead or hold onto 

the tail for the first round. 

 

Row 1—Pick up the three beads in the order designated in the word chart.  Slide down the thread 

leaving enough tail to weave in later.  Go through all 3 beads from the tail side.  Go through the first 

bead again. 

 

 

Row 2—Pick up the 1st two corner beads.  Go through the next bead.  Repeat for the next 2 corners.  

Step up by going through the 1st corner bead added. 

 

 

Row 3—Pick up the 1st two corner beads.  Go through the next corner bead from the 

previous row.  Peyote once using the bead designated by the word chart going through the 

1st of the next 2 corner beads.  Repeat for each side of the triangle.  Step up by going 

through the 1st corner bead added. 

 

Continue in this fashion through row 26.  For row 27, pick up a single bead for each corner.  Secure and end the 

thread. 

 

Bail:  Thread the needle with a wingspan of thread.  Place a stop bead a little past the 

center of the thread or hold onto the tail for the 1st round. 

 

Round 1—Pick up 24 C beads.  Slide down to the center of the thread.  Go through 

the 1st 6 beads from the tail side (diagram to the right). 



 

 

 

 

 

Round 2—Peyote with C 12 times.  Step up 1st C (diagram to the left). 

 

 

 

 

Round 3—Peyote one space with (2C).  Peyote the next 3 spaces with 1 C.  Repeat 

this sequence 2 times.  Step up 1st C added (diagram to the right). 

 

 

 

Round 4—The bail now follows the triangle pattern.  Stitch (2B) at 

the corner and 1B in each of the next 4 spaces.  Repeat for the 

other 2 sides.  Step up 1st B added (black line, diagram to the 

right). 

 

Round 5—Stitch (2B) at the corner and 1B in each of the next 5 

spaces.  Repeat for the next 2 sides.  Step up 1st B added (red line, 

diagram to the right). 

 

Round 6—Stitch (2C) at the corner and 1C in each of the next 6 

spaces.  Repeat for the next 2 sides.  Step up 1st C added (green 

line, diagram to the right). 

 

 

Remove any stop bead and put the needle on the tail side. 

 

Round 7—Repeat round 3. 

Round 8—Repeat round 4. 

Round 9—Repeat round 5. 

Round 10—Repeat round 6. 

 

Round 11—Stitch 1 C at the corner.  Peyote 7 spaces with a 

single C.  Repeat one time.  Stitch 1 C at the last corner.   

 

Line the center of the bail to the center of the pendant.  Go 

through the 10th C from the corner moving toward the 

center of the pendant.  Go through the next C on the bail.  

Continue to zip the last row on the bail to the top row of the 

pendant until the thread is exiting the opposite corner on 

the bail. 

 



 

 

Return to the other needle. 

 

Zip the beads from round 6 to the beads added in round 10.  After going through the last corner bead, continue 

to zip the round 6 beads to the same beads on the triangle pendant.  Secure and end the thread. 

 

 

 

 

 

 
Bead Symbol Count Description  

A   209 Black, Opaque (DB10) 

B   106 Beige, Opaque (DB2301) 

C   137 Gold, Transparent (DB22L) 

D   238 Green, Opaque (DB262) 

E   56 Brown, Transparent (DB1790) 

F   385 White, Opaque (DB352) 



 

 

Word Chart 
Row 1: (2F, 1B)  

 

Row 2:  (2F) 

    (1E, 1B) 

   (1B, 1F)  

 

Row 3: (2F), 1E 

    (2E), 1B 

    (1E, 1F), 1F  

 

Row 4: (2F), 2D 

    (1B, 1E), 1F, 1D 

    (1D, 1B), 2F  

 

Row 5: (1A, 1D), 1F, 1E, 1B 

    (2B), 1D, 1B, 1E 

    (1D, 1B), 3F  

 

Row 6: (2D), 1F, 1E, 2B 

    (2B), 1E, 1B, 1E, 1D 

    (2D), 4F 

 

Row 7: (2A), 1D, 1F, 1D, 1F, 1B     

(2A), 1A, 1E, 1B, 1D, 1E 

    (2D), 1B, 1F, 1E, 1F, 1D  

 

Row 8: (2B), 3D, 2F, 1A 

    (2A), 3A, 1B, 1D, 1E 

     (1E, 1F), 1E, 1F, 1E, 2F, 1D  

 

Row 9: (2F), 2A, 1F, 1E, 1F, 1B, 1A 

     (1D, 1A), 1D, 1A, 2D, 2B, 1D 

     (1D, 1F), 1F, 1B, 1E, 2F, 2A  

 

Row 10: (2F), 1B, 2A, 1E, 1F, 1B, 1A, 1D 

      (1D, 1A), 1A, 1D, 1A, 1D, 1A, 2B, 1D 

      (1D, 1B), 1F, 3E, 2F, 1A, 1B  

 

Row 11: (2F), 1F, 1B, 1D, 2E, 1B, 1A, 2D 

     (1D, 1F), 1A, 1D, 2A, 1D, 2A, 1B, 1A 

     (1D, 1B), 2F, 3E, 1F, 2A, 1F  

 



 

 

Row 12: (2F), 2F, 2A, 2E, 2D, 1A, 1D 

     (2F), 1B, 2D, 1A, 2D, 1A, 1D, 2A  

     (1A, 1D), 1B, 2F, 1E, 3F, 1D, 1B, 1F  

 

Row 13: (2F), 2F, 1B, 2D, 1F, 1B, 1D, 2A, 1D 

     (2F), 1F, 1A, 1D, 1A, 2D, 1A, 2D, 2A 

   (1A, 1D), 1B, 3F, 1E, 2F, 1D, 1B, 2F  

 

Row 14: (2F), 3F, 1A, 1D, 1E, 1B, 2D, 2A, 1D 

    (2F), 1F, 1B, 2A, 3D, 1A, 1D, 1A, 1D, 1A 

    (2A), 1A, 1B, 3F, 1E, 1F, 2A, 1B, 2F  

 

Row 15: (1D, 1A), 3F, 1B, 1A, 1D, 1F, 1A, 1D, 1A, 2D, 1F 

     (2F), 2F, 2D, 1A, 3D, 1A, 1D, 1A, 1D, 1A 

     (2A), 2A, 1B, 5F, 1A, 1B, 3F  

 

Row 16: (1A, 1D), 1A, 3F, 1B, 1D, 1A, 1B, 2A, 2D, 1A, 1F    

   (2F), 2F, 1B, 1A, 1D, 4A, 4D, 1A     

   (1A, 1D), 2D, 1A, 1B, 4F, 1D, 1B, 4F  

 

Row 17: (2A), 1A, 1D, 3F, 1A, 1D, 1F, 1B, 1D, 1A, 1D, 1A, 2F 

    (2F), 1F, 1E, 1F, 1E, 2D, 1A, 1D, 2A, 1D, 1A, 3D 

     (2A), 1D, 1A, 1D, 1A, 4F, 1D, 1A, 4F, 1D  

 

Row 18: (2B), 2A, 1D, 2F, 1B, 2D, 2B, 1D, 1A, 1D, 3F 

      (2F), 3F, 1B, 1D, 2A, 1D, 1A, 1D, 4A, 1D, 1A    

   (2A), 2D, 1A, 1D, 1A, 1F, 2D, 2A, 1B, 4F, 1D  

 

Row 19: (2F), 1B, 1A, 1D, 1A, 2F, 1A, 1D, 1F, 2B, 2D, 4F 

    (2F), 1F, 2E, 1B, 1E, 1D, 1A, 5D, 2A, 2D, 1A 

     (2F), 5D, 2A, 2D, 1A, 1B, 4F, 2A  

 

Row 20: (2F), 1F, 1B, 1A, 1D, 1A, 1F, 1B, 1D, 1A, 1F, 1B, 1A, 1D, 1A, 4F 

      (2F), 2F, 1E, 2B, 1D, 1F, 1A, 3D, 2A, 1D, 3A, 1F 

     (2F), 1F, 4D, 3A, 1D, 1A, 1B, 5F, 1A, 1B  

 

Row 21: (1D, 1F), 2F, 1B, 3A, 1F, 2A, 1F, 2B, 1A, 1D, 5F 

      (2F), 3F, 1E, 1B, 1E, 2F, 7D, 1A, 1D, 1A, 1F  

   (2F), 2F, 1A, 1D, 5A, 1D, 1A, 1B, 5F, 1D, 1F  

 

Row 22: (2D), 3F, 1B, 1A, 2D, 1A, 1D, 2F, 2B, 1D, 6F 

     (2F), 4F, 1D, 1B, 1E, 2F, 1D, 1A, 1D, 2A, 1D, 1A, 1D, 1A, 2F 

     (2F), 3F, 1A, 1D, 1A, 1D, 2A, 2D, 1B, 5F, 1A, 2D  

 



 

 

Row 23: (1B, 1A), 4F, 1B, 2D, 1A, 1D, 1A, 2F, 1B, 2D, 6F 

    (2F), 4F, 3E, 3F, 3D, 1A, 2D, 1A, 1D, 1A, 2F   

  (2F), 4F, 1D, 1A, 3D, 1A, 1D, 1B, 6F, 1D, 2A  

 

Row 24: (1F, 1B), 1D, 4F, 1B, 4D, 2F, 2B, 1D, 7F 

     (2F), 4F, 2E, 1D, 1E, 3F, 1A, 2D, 1A, 1D, 1A, 2D, 1E, 2F 

     (2F), 5F, 1D, 4A, 1D, 1B, 7F, 2D, 1B  

 

Row 25: (2F), 1B, 1D, 4F, 1B, 3D, 3F, 2B, 8F 

     (2F), 6F, 1D, 1E, 4F, 1A, 1D, 2A, 1D, 1F, 3D, 2F 

     (2F), 6F, 4A, 2B, 8F, 1A, 1B, 1F 

 

Row 26: (2C), 2C, 1A, 4C, 1B, 1A, 1D, 1B, 13C 

    (2C), 7C, 1E, 5C, 3A, 2C, 2E, 1D, 3C 

     (2C), 24C  

 

Row 27: (1C), 8C, 1B, 1D, 1B, 14C 

     (1C), 18C, 1E, 3D, 3C 

    (1C), 25C 

 

 


